IMO # 7203223

Dl May 08 16,35 Vovage Ne, 3 04-08 From ¥
HoLD *{ To
[y RN == U o 3 VU T e Ty e S5 e S

H = High Alarm, L = Low Rlarm, % = Alarm, % = Inhibited Temps in of

S70 08 (C) Test Imput O C X 371 08 (C) Test Iwput +30 C X
1 = 3 4 o1 & 7 & ]
1A - 0,02 0. 07 G, 0 0,01 0. 01 0. 03
IR 0,05 - 0. C)Bw 0. 04
1 0. 07 G, 07 G. 03 0. 01
iD 0,09 - 0,05 .03 - 0,13
| =R 8. 63 8.69 .13 9,17 8.75 8,73 8. 25 8.7%
: 2R T.76 7.2l 8. 30 7.98 a. 10 7.1 8. 3& 7.7(:*
=C E. 14 4, 18 E.01 5. 83 Go 31 S 61 €. G4 5. 52
| ZD . 85013 4, 24 4,38 2.53 4,57 3. 66
| 2E 4, 39 S5.97 4, G 5. 25 =, DY Z. 91
| 2R 5.1 8.&9 5.78 8.7 3. 89 9.3z 2.-18 T 40
l ZH 7. 09 6. 06 7o lE E. 4 &. 96 E. 31 7. 06 & Bl
aC 4.18 3.18 3.71 2. 81 3.8 2. 65 3. 69 3. 96
| =D .73 2. 59 S.17 .03 .14 1,95 =od2 1. 96
3E 4, O 3. 00 = 65 =.57 2. bd =. 82 2. 32 .75
4A . 54 B. 60 9. 38 9.03 9. 46 8.14 8.9%5 a.81 Y. 66
4H &. 28 2.99 5,70 4,40 5.71 4,67 5.79 4,65 . 84
4C .85 =. 82 Z.41 =599 3. 57 =. 93 .46 =. 38
4D 3.51 =2.73 .58 3.03 .77 .24 7 B9 3,09 °
|
=R 7. 63 9.97 8.49 8, 22 9. 3= 8. 32 8.73
SH .92 €. 35 5. 46 4.7 5. 60 4, B4
50 1.37 3. 82 3. B2 S. 04 e T4
=D .30 3. 23 1.86 3. 0E

|

Holp# 4 Ta

01 May 08  1é&. 36 Vayane No,p 04-08 From 3 m ‘]
|
|
|
|

i KNEE == o5 w1 70 T T = F N K o Lo &=L Iha o !
H = High Alarm, L = Low Alarm, ¥ = Alarm, # = Inhibited Temps in °C
370 08 (C) Test Input O C X 371 08 (L) Test Inmput +30 C X
i & 3 4 5 & 7 8 3
1A - Q.02 0, Q7 0. O Q.01 0. 01 C0.03
1B 0.05 - 0.08 Q.00 !
ic 0,07 D.07 0,03 Q, 01 !
1D 0.09 - 0,05 0.03 - 0.13 I
f=3=] 8. & 8.7 3.17 .21 a.83 8.77 D32 8.73 !
2B 7.77 723 8.33 8.01 8.13 7.4 8. 34 7.78
=0 &. 16 4wl B. 04 5. 85 G. 32 5. 62 E. 35 3. G4 i
=D S.l4 4, 20 S 00 3,095 4,98 3.67 J
=3 4. 41 .58 4,55 5. 26 3. 00 .2
jet=] 9. 20 A. 66 8. 79 B8.73 9,90 9, 33 9. 20 F. 41
SR 7.09 6. 07 712 2 B 7 Be 32 7. 05 E. 45
3C 4.19 3.19 3.71 2. 81 S. 28 2. 66 3.71 3. 326
3D .73 = 60 3. 16 & 10 215 1.93 Zz.12 1.96
SE 4,03 3.01 2. 66 2. 957 2. 45 2. 82 2. 32 2. 76
4 9.54, 8. 60 9. 3% 2.03 . 48 8.14 .01 a8.81 3.67
4H G, 28 3. 60 .70 G 40 S.71 4,67 5.79 4. 65 . 84
4C 3. 89 =, 83 S bl =99 3.597 .93 I 46 2.98
4D 3.32 2. 74 .58 3. 04 3.77 Bl 3.51 3,10 7
=h 7.63 3,58 8. 43 8.z3 3, 32 8. 33 8.73 1
SR 3. 32 G. 36 5. 46 4.71 H. B0 4. 84 T |
=S 1.37 3. 81 3. 82 3. 05 Z. 74
=D e 30 3.23 1.86 3. 06


mremmers
Typewritten Text
IMO # 7203223


2 May 08 16.03 Vayage No,§ Ga-0877 Ewan 1 —

HoLD #2 To 1

i ONC N == A T P N = ] o ] L. S Eve Faa
H = High Alarm, L = Low Alarm, # = Alarm, # = Inhibited Temps in 2C
370 08 (C) Test Imput O C b4 371 08 {C) Test Input +30 C X

1 2

[ ]
=
14.]

& 7 8 2

iR 7.77 7.25 7« 40 7.38 7.58 7. 00

1B G O& o= 5. 36 5. 24

iC S S0 4,76 4. 57 S 44

iD 5. 42 T, 00 S. 12 5. 35

=R 0. 12 0.07 - 0.1 - 0,01 0.13 - 0.14 - 0,01 -~ 0,05
ZR Q.17 Q, 10 Q.01 O, 02 0. 04 0. 06 0.03 [S P er
=4 Q. O 0,01 - 0,03 0, 00 Q0 00 0. 048 = Q.07 Q. Q4
2D — .02 0,035 Q.05 Q.09 0,06 Q.01 '

ZE O, 03 0, 038 Q, 00 = 0. 06 . 04

3R 3. 02 8. 4% 9.55 a.37 . 64 8,92 8.89 3. 0
3B e 28 5. 34 G. 97 G, 23 B 74 E. 2= 6. 83 &. 16
aC 4, 09 2.11 3. 67 3. 63 3.17 .51 .63 3. 83
3D =74 =047 3. 1= =a D4 2. 0 i.88 1.99 1.88
SE 3.78 e 45 2. 43 = Al 2. 34 .68 2.18 Z.61
40 F. 57 8.51 F.21 8. 83 9,25 8. 06 8. 9% 8.74 3. 45
4R &, 20 3. 356 5. 71 &, B4 5. 68 4, 53 5.78 4, 6O T. 81
4C 3.83 2.73 = &, 37 3.57 =t .43 .96
40 3.39 e &7 o .30 3. G4 3. 11 S.4l 2. 99
SR 7.56 Y. 49 8.43 8. 04 3.2 8.17 8.58,

SR 3. B4 G, 24 T. 38 4. S7 5.55 4.76

aC 1. 30 .77 3.78 .95 Z. 88

k=19] Z.21 3. 15 1.72 2.2

1 May 08  16.06 Voyane MNe.: 04—08 From 3
HoLD #2 Ta_ 3

(g R ¥ | ] Y D S Y Ll 5. e Fia

H = High Alarm, L = Low Alarw, ¥ = Alarm, # = [rhibited Temps in °C

370 08 (C) Test Input 0 C A 371 405 (Y Test Input +30 C X

1 2 3

>
m
(L]

7 8 g

iR .77 7.25 4 7. 40 7. 328 7.59 7.00

1B &. 06 4, OF G 34 .28

1c .20 4. 77 4. 57 5. 45

iD S. 42 Fa. 00 S. 12 H. 35

ZA Q.12 0,07 - 012 - Q.01 G. 13 - O.14 - 0,01 - 0,05
2] 0,17 oMo 0.0l Q.02 Q. O Q.06 0.03 Q.03
2 Q.0 G.01 - .03 Q. U Q. O Q.04 —~ 0,03 L 03
2D - 008 Q.05 Q0. 0F Qa0 Q.06 0.01

2E 0.03 0. 03 0. 00 é 0.08 0. 08

3A . 2 3. 46 . GG a.38 3. 65 8.33 8.89 9,03
kg =) &.38 5,95 6. 98 B. 34 G. 74 .22 G, 83 €. 17
3C 4, 0 3.10 3. 67 o A 3.17 3.51 . G4 3.83
3 [=are 2. 47 3.13 =2, 04 2.03 1.88 = 1.88
SE 3.79 2. 4d S 2 e &L 2. 34 e &8 Z. 18 Z.61
4A 3. 38 B.51 .22 a.89 .25 8. 06 8.96 B.74 3. 46
4F G &0 3. 96 D, 71 o B4 F. 68 4. G2 35.78 4, GO S.81
4z 3.83 2,73 S a2 . 97 3.597 R 243 .96
40 3. 35 =. 68 34l . F90 3. G4 3.11 3.4l 299
50 7.57 3. 49 B, 43 8. 04 3. 21 B.17 8,59

=1z 3. 85 G225 S5.38 4.38 .54 4,76

=50 j=T1s] 3.77 2.79 295 z. 67

50 Z.=1 3.15 1.73 =




1 May 08  13.23 Vayage Na,: 04-08 Frmm

"{OL.D 1]1'3 , To

?
L IR o R 1 L S N = § % _ L. =S, Enva &3 .
H = High Rlarm, L = Low Rlarm, % = Alarm, # = Inrhibited Temps in <C
370 05 (C) Test Iwpuet O C X 371 05 (C) Test Irmput +30 C X
1 2 3 4 =] & 7 8 ]
A 7.66 €. 95 7.3 7. E2 74l G. B4
B &, 00 3. 69 5.18 S, 10
.C S5.18 4. &7 4,52 S 40
.D 5. 32 4. 83 . 00 S
A 9. 74 9. 48 3. 97 10,03 5. 83 9. 62 9,70 9. 26
R 8. 38 7,’9..‘4 D, 14 8.79 8.91 8. 62 8. 94 8.57
H& 7.1& 4,73 T 24 711 &G0 6., &5 .07 D5.77
D 5. 70 S. 01 G788 E. 29 4.3 4. 80
2B 5. 30 3.9 5.13 5. 01 4, 3 3. 89
360 O, 00 - 0L 03 0. 09 - D. 12 i GO, 03 Q.03
3H 0. 04 0,15 0.02 - 0,07 - 0,04 - 0,05
3C 0,01 0,10 0D.03 0,05 0.05 Q.00
3D Q. Q7 0. 01 0, 0D - Q.06 0. 02 0,01 0. 00
3E Q, 0O 0. 02 - 0,02 Q. 04 0. 03 — 0,038 Q, 00 0,02
4A 8.7& 7.89 a8.72 8.51 8.79 7.7 8.45 8.27 9. 086
4R 5. 92 3.37 5. 62 4,19 H.47 4.55 5.67 4,25 S. 4
4C 3. 82 2. 77 Sa AE 2.78 3.33 . 86 3. 41 .78
[39] 3.1 .59 3.16 2.77 3. 4 £. 95 Ba 20 2.77
3A Tl 3. 18 8.14 7.67 8. 88 7.8%9 8. 27
=)s] 3. 76 5. 19 5. &80 4, 38 5. 38 4. B4
ac 1.77 3. 69 3. 586 . 84 &, B2
a0 207 Z.99 1.57 2. 81
1 May 08 15,24 Vovage No, @ 04-08 Fraom 1
40 \-:D —:!1'_3 T 1
(i RO == e 1 Y PO R TR oY oM e i = I & 2
H = High Rlarm, L = Low Rlarm, * = Alarm, # = Irhibited Temps in <C
370 08 (L) Test Input O C X 371 08 (C) Test Inmput +30 C X
1 2 3 &4 =] & 7 8 39
1A 7. 66 6. 99 T4 T2 T4l . B84
1B 6. 00 3.69 5.17 S.11
1C S, 16 4.68 4, 52 S 4l
1D 5. 32 4,85 5. 00 3. 26
2R 9.74 2.%8 3. 97 10,04 5. 94 9. 63 9. 69 9. 26
2R 8.38 V.9 F. 14 B.75 8. 9 a. 6l 8.93 8. 57
zC 7.16 ba T4 7.25 7.11 &. 60 6. 25 5. 07 5,79
zD 5.71 5.01 S. 7E 5.29 4. 39 4. 80
ZE 5. 30 3. 391 Sl =, 01 4. 34 3. 89
A Q. Q0 - 0,03 Q.09 - Q.12 0 Q3 — 0,02 0. 03F Q.03
B 0.04 0015 0,02 - 0,07 e @ - 0,04 - 0.04
3C Q.01 Q.09 0.03 0. 05 ¢ 0. 04 0, 00
3 0. 06 .01 —~ 0,01 —- 0,08 = 0,02 0, OF Q.01 Q.00
SE Q. 0O 0. 032 — 0.0 0. 04 0. oz - Q.03 Q.00 0, 02
4R 8.78 7.91 8.75 8. 54 8. 82 7. 74 8. 48 8.31 9. 08
4R 5. 94 3,37 5. & 4. 20 S 49 4. 56 5. 68 4,27 5. 43
4 3.81 2. 76 O e . 80 3.53 &. 86 3. 4 &, 78
4D 3.13 .59 3.17 272 3.43 =96 3.21 2. 78
SR 7.42 9.18 8.13 7. 68 .89 7.859 8. 22
SR 3.77 .16 S. 20 4,38 5. 37 4. 65
=1 1.78 2. 69 2. 56 2. 84 2.33
=0 = R o I e [ | 1 = = oo




21 May U8 14,43 Voyaome Ne, 2 04-08 Erem 1

HoLD ¥4

To H
i RO =4 LN ' TN R T ¥ ] : . =, Dna S
H = High Alarm, L = Low Alarm, * = Alarm, # = Inhibited Temps in 2C
370 08 (C) Test Imput O C X 371 08 () Test Input +30 C %
1 e 3 &4 5 & 7 =) 9
1R 7.58 5. 87 7.10 7.10 7.2R 6. 70
1R 5. 98 3. 64 5013 5. 06
ic S.lE 4,61 Lo 46 S. 34
iD 5,2 4,71 4. 88 5. 15
=48] 9. 70 eX = 9. 51 9, 34 .87 9. 53 9. 62 9,17
=38 8.37 7.78 9.15 8.76 8.9 8.61 8.35 a.37
=2 7. 22 4,71 7. 31 7.15 G 67 €. 28 5. 09 5.51
=D S.70 5. 02 5. 74 .2 4. 35 4. 80
=4 5. 27 3.81 S 4,937 4, 30 3. B4
3A 3.595 3. 30 10,61 9.7z 10, L2 9.53 10,03 3. 98
3K 7. 46 6. 72 7. 94 7.27 7.83 6. 23 7,35 6. 73
3C 4,39 . 3,39 4.78 4, 36 4,20 3.61 3. 90 3.11
3D 3. 00 2. 77 3. 40 .87 &=, 79 =2 . 46 2. 08
SE .02 =85 [SPR SN 2.79 .39 2. 46 4l 2. 48
4R .13 O, O O, 04 Q.08 O, 04 Q.09 0. 03 0.8 0. 18
L4 0, 05 - 0,01 0, 05 ¥ - 0,01 0. 02 Ou.ll 0,05 - G, 01
40 0,15 0. 01 0. 01 0. 10 0,15 0. 03 0. 07 O, OF
4D O, Q04 0. 14 0. 03 O, GO Q.10 0, 02 Q.10 0. 0L
A €. 93 7.77 7.78 7,28 8. 03 T.27 7. 70
SR 3.57 5. 16 4., G2 3.79 4.75 4.27
=sC i.52 .83 3.13 e by .1
a0 1.86 2. 66 1. 36 2. 56 -
01l May OB 14,44 Voyage No, 2 04-08 From 1
Hold ¥4 To
FritsS ST Sl . =S Da Sia
H = High Alarm, L = Low Alarm; % = Alarm, # = Inhibited ) Teﬁps in oC
I70 08 (C) Test Input 0 C X 371 08 (C) Test Input +30 C X
i 2 3 o 5 & 7 ) 9
1R 7.53 .87 7.11 7.11 T30 E.71
1B 5.98 3. 64 5.15 5. 08
ic Tl 4. B0 4. 46 5. 38
1D Sl 82 4. T2 4. 88 S5.17
A .70 EE C¥ 9.391 9. 95 3. 88 3. 5& F.63 3. 16
2R a.38 7.78 2.15 a.76 8. 22 8. 68 8. 94 8.57
= 7.21 4.7 7. 30 7.15 &. 66 6.2 5. 06 5. 49
=D 5.69 Sl 02 5.732 3.29 4. 36 4,80
= S5.27 3. 82 S. 11 4. 97 4. 31 3. 89
3R 3. 85 9,31 10.e1l 9.73 10,12 .53 10,03 2.593
3R 7. 45 6.73 7.4 7.6 7.83 2] 7. 34 6.73
20 4,59 3. 38 4.78 4. 36 4o 20 3. G2 3. 20 3.%1
3D 3. 00 =2.77 Se 40 2. 87 2. 79 =7 2. 46 =08
3E 3. 08 2. 85 2.6l 2.79 239 2. 46 a2 2. 49
40 0,13 0. 0 Q. 04 0. 08 0. 04 Q.08 0,03 0.28 .17
4H Q.05 -~ 0,01 0. 06 0,02 — 0,01 0, O .11 0,03 -~ 0,01
40 Q.05 0. 01 0,01 0, 08 0.13 0. 03 Q.06 Q.02
47 0, O O, 14 .03 — O, 01 O. 10 O. 02 G.09 SL0l
SA 6. 97 7. 86 7.81 7. 26 8. 09 7. 52 rie
SR .58 5.25 4. 65 3. 82 4,80 4. 30
S5C 1.583 z.38 3. 16 e 4B 2. 14

=D 1.87 =.69 1.3A S




01 May 08 17.04 Vovage N, t 04-08 Erom
| HoLD # 5 To

Priid ES e e ET T Ly 55 I0a 8534

H = High flarm, L = Low Alarm, # = Alarn, # = Inhibited Temps in C

70 08 (C) Test Irvput O C X 371 a8 (D)

Test Input +30 C X
i e 3 4 <] & 7 & 9
iA £.71 6. 62 e. 61 6. 76 6. 57 7.18 ,
1B 5.5 Z. 89 S5.11 &4, Gy |
1ic &S 08 4. 49 5. B4 4,90 |
. 1D 4. 97 4,53 4, 40 4, BE '
L en B8.95 9,29 S.E0 9.66 9.58 5,33  9.83  5.83
i =R 7. 26 7.63 8. &0 B.z4 8.41 7.21 B. &3 B.DE‘
= &. 32 4, 25 &. 34 5. 94 [y 5. 76 &. 539 5.71
=D SoEs 4. 88 5.19 3,75 4. BE 3.87
| 2k b, 76 .78 4, 86 5. 359 3.17 .08
| = 3., 30 8.8z 9.98 8.33 10. 05 2.53 9, 27 F.58
| 3k 7. 16 €. 08 715 €. 47 709 B 36 7.186 ‘6.50
3C 4,23 226 3. 76 2. 21 3. 33 3.71 S.81 3. 99
| 3D 2. 88 o 1 3. 2E 2.1z = BE 2. 11 .19 2. 03
| 3E 4. 14 S.11 2. 76 2. 71 2. 96 2. 34 e 4l =. 87
l 40 3. 62 8. 65 2. 52 .08 2. 56 8.1 9.1 8. B& 9. 76
4F &. 30 3. 63 S.70 e, B . BTIHD A, T 5,80 4. 65 5. 84
4 3. 98 . 84 e &l . 02 3. 56 2. 94 I 46 e DO
41 3. &6 .81 3. 76 2150 3.90 3. 37 C 3. 64 3.21
O - 0,01 0. 15 Q.16 0. 15 Q.03 - 0,16 - 0,03
IR 2. 97 &. 39 5. 56 4, BE S, 64 4. 90
=C 0. 00 0. 01 ~ 0. 01 —- 0,01 - 0,186
=D 0,10 - 0.0 Q.01 = 0,03
01 May 08 17.0%5 Voyage Na, 3 04-08 From @ -
+
J0L> 7 5 Te 1
et SRl LS . =0 e &1 .
H = High Alarm, L = Low Alarm, * = Alarm, # = Inhibited Temps in °C
370 05 (C) Test Input O C X 371 08 (C) Test Inmput +30 C X
1 z 3 & <1 & 7 =} 3 |
id .78 &. 65 &. &4 &. BO .61 719 :
1B S 60 3. 320 S.13 4,56 '
iC S.09 4, 49 3. 66 4,92 |
1D S. 01 4,55 b &l 4,70 ‘
2R 8. 34 9. 29 9. 61 9.&7 3, &0 3. 34 9. 84 .24 I
= 7.97 7,63 8.1 8.3 8. 43 7«31 8. 64 8. 0& l
= 6. 34 4,25 E. 353 Se B4 &.48 5.76 [ 5.73 f
=D 5.3 4,85 9.19 3.79 4. 83 Z. 88 II
z 4,77 3. 80 4, 86 5,35 3.18 3. 08
3A. 3,30 8. 832 .96 8. 24 10, 09 D. 54 D 2 3,59
SH 7.17 .08 7.15 6. 48 7.09 ©. 36 €. 50 .
3 Lo 33 3. 26 3.77 3. 92 2.33 3.7 3.99
3D . B e &7 223 S e 2. 26 .12 2. 02
SE 4y 14 3. 11 .76 2. 71 oy .39 Z. 87
4R 9,68 8.635 9.5 2,08 9,56 8.2 2,13 8. 88 3.76
HE 5, 30 .63 S3.70 L, 42 S.70 4.7 G B0 b, 65 - 2,84 .
4 3. 96 Z. 84 S.41 3.03 5. 56 h= 3. 46 3. 00
4D 2. 66 2.81 3.77 3. 15 3. 91 2.37 3. 65 Szl
50 - 0,01 0.1 0. 20 0,15 .02 - 0,16 - 0.06& i
SR 3.97 . 39 .96 4,83 e 64 4,0 i
S 0. Q0 0,01 —~ 0,01 — 0.01 - 0.16

5D 0010 - 0,02 0.01 - 0.03



1 May 08 14,80 Vovange No.t 04-08 From

HOLD# S compT. B To

1
R V=% L8 ¥ ) PN g a0 i - Lie S50 va .
H = High Alarm, L = Low Alarm, * = Rlarm, # = Inhibited Temps in °C
370 08 (C) Test Iwnput O C X 371 05 (L) Test Input +30 C X
1 g 3 4 ] & 7 a )
A 754 &.79 7. 04 7. 04 e G &3
LB 5.94 3.63 .1z 5, 05
\C 5. 10 4. 57 G443 5. 38
LD 5. 16 i B4 4. 81 5.10
A .67 X =3 2. 886 9. 20 9.83 S48 3.57 9. 13
R 8. 37 7.95 B 14 8.78 8.93 8. 62 8.36 8.57
El 7. 24 4,71 7. 34 7.19 6. 68 &, 31 B 08 S5. 63
2D S5.71 5. 00 .76 5, 30 4,33 4. B0
E 5. 27 3.76 5. 05 4,96 4. 26 3. 80
3R .50 9.1% 10,53 .63 10.01 2. 44 B, 92 .43
3R 7. 44 B &6 7.93 723 7.85 E. 29 7.32 6. 71
ic A.60  3.25 4.78 4. 36 izl 3. 60 3. 88 3.08
30 3. 00 .75 S 40 .83 =.77 [SPp=t) 2. 41 .03
1= E.97 =.78 =58 =2.73 S 34 2. 39 Z. 36 .33
\O10,08 .07 10,13 9. 37 B3.76 Q.27 9. 41 a. 82 Ga D4
<] &. 87 3. 69 &. 27 5.539 6. 08 3.38 5. 86 4,23 5. 90
300 b4, 44 1.78 3.71 3. 63 3. 8= 3.4l 3. 38 3. 64
3D 3. 31 3.18 3. 16 2. 95 3. 16 =.78 343 .94
3R~ 0,06 0. 25 0. 00 D.05 -Gﬁéis - 0,13 - 0,05
JE 0, Q) 0,01 0,03 — 0,02 0,01 0. 0%
3C - 0.04 Q. 00 .09 ~ 0,01 - 0.16
IiD - 0.0l 0.02 - 0,02 - 0,05 -
01 May 08 14,22 Vovane Now s 04-08 Fram i
—t
HOLD>™S  CoMPT o s
i SOOI = A8 ] IO B TR o 8 e L. S e S
H = High Alarm, L = Low Alarm, * = Alarm, # = Inhibited Temps in °C
370 05 (L) Test Ivput O C X 371 08 (L) Test Input +30 C X
1 e 3 o <] & 7 8 3
iA 7.5950 6. B0 704 7.05 7.23 . B4
i® 5. 99 3.63 S5.13 5. 04
ic So10 4,56 Gu 43 5. 33
iD 5. 17 4. B4 4. 81 S. 10
=A 9. 68 9. 41 9.86  59.91 3. 84 3. 48 .57 9.13
=R 8.38 73 3.15 8.76 8. 94 8. 62 B. 26 8.57
zZC 7. 25 4.71 7.35 713 &. &8 .31 5.0 5. 60
=D S.71 5. 04 S5.75 5. 30 4.33 4. 80
ZE 5. 87 .77 5,089 4. 37 4, 2 3. 80
3A 9. 50 2.28 10, 34 3. 64 10,01 9. 46 J. D4 3. 44
eis Vo by G. 68 7.93 7. 24 7. 86 &. 29 734 &. 71
3C 4. 60 3. 46 4.73 4. 3B 4. 20 3.61 3.88 3.08
3D 3. 00 =. 76 3. 3539 2. 84 2.77 2. 25 2.4 2. 04
3 .98 2.79 2. 56 2. 74 =, 24 40 z. 28 2. 40
40 10,05 3. 07 10,12 4.37 9.77 2.27 9. 42 8. 82 9. 35
4 5. 085 .69 G 37 5.589 . 05 5. 37 5. 86 4 22 5. 80
4C bbby .77 .71 3. 62 3.9 3. 41 3.95 3. B4
4D 3033 3.18 317 2. 96 3.17 2.7 3. 43 [l
=50 1. 64 1o0s 1.19 1.53 1.37 O, 54 1. 46
SE 0, 00 Q.01 0.03 =~ 0.03 0. 01 0. 05
=1 .19 Q. &4 0.53 Q.29 0. 26

=1] Q. 36 0. 25 Q.16 0,31




21 May 08 17.31

Yayage No.

O8—-08

RECALIRRATED SeNSoRS

it Sedidl-d gD

H = High Alarm, L = Low Alarm, * = Alarm, # = Inhibited

370 05 (C) Test Iwnput O C X

i 2 3 4 5

iR 7.33 .98 7.01 7.1 7.1
LB 5.31 4,09 - 0,02 4,78
e 5. 14 4, 64 3.91 5. 07
1D 5. 49 4, BE 4,63 5.18

371 08

Temps in 2C

(C) Test Input +30 C

& 7 a8

ZA 3.09 3. 40 2.78 3. 87 10,08 5. 46 9.93 9. 43

2B 8. 05 7I3 8.71 8. 34 8. 60 8.03 a.7& 8.15

& G 43 - 4032 & 46 5. 94 6.5 S. 82 6. 44 5. 77

D 527 4. 86 S. 29 2. 87 4. 34 4,01

ZE 4,36 4,06 4. 31 0. 05 3.33 3. 21

3 3.37 3. 16 10.01 3. 06 10.11 .62 .3 3. 63

3B 7. 20 6.18 7.25 B. 43 .33 - 0.0 7.05 6. 53

3C 4,25 3. 2% 3.78 4,00 3. 80 3. 86 4. 03

3D =. 86 2. 63 3. 30 Z.16 .19 .27 2,07

3E =3 3.19 =.83 Z. 86 2. 63 3. 04 .51 2.8

40 9. 68 8.63 5,859 F. 13 3. 64 8. 26 3.13 8. 34 3. 83

4E G. 32 3.67 S. 69 4,53 S. 69 Lo TE F5.81 4.63 5.87

4C 4. 00 2. B .41 3. 06 3. 596 Z. 96 3. 46 3. 02

4D .76 2. 87 3. 94 3. 33 4,02 3. 47 3.73 3. 32

SR 7.08 8. 38 7.77 8. 03 8.25 a7 8, 38

SE 4,01 G 43 S3.61 4.8%9 5. 69 4,25

s5C .08 3. 21 I 52 =. 82 Z. 63

35D 2. 38 2. 46 2. 10 3.18

31 May 0B 17.30 Yoyage Ne.i 04-08 Erom 2

RLCALIBRATEN SEN SoRs Ta 1

s LOE =1 S s | P S W S o b 8. e L =i L
H = High Alarm, L = Low Alarm, # = flars, # = Inhibited Temps in °C

370 08 () Test Input O C X

e
2]
>
w“

1A 7.33 &. 97 7.EE 7. 45 7. 51
LB &.1l4 4,18 — Q.08 4.78
1C S, 14 4,64  F.91 5. 06
1D 5. 66 S OF 4, 62 5. 17
20 9.07 %37 9.78 3.86 10,07
& 8. 04 7. T4 B.71 B, 33 8,60
20 Gl 4l 4.33 E. A5 5, 95 G, 52
2D H5.27 4,83 S 28 3. 86 4.4
ZE 4.9 LO5 &, IO 0. 06 3. 38
it
328 9.36 3,15 LO. 01 3.05 10,11
IR T.E0 £.17 7.24 €. 43 5, 2
3C 0 4.2 3.2 3.78 3.99 - 0.07
3D .86 .69 3. 30 2015 TTE 38
3E 4.2T 380 2,88 2.85 .65
40 9.68 8.69 g, 53 9, 12 3. 635
4B G382 3.66 5, 69 4,55 5. 69
40 4,01 z.85 3.4 3. 06 3. 56
4D 3.76 2. 86 3. 94 3,33 4, 0F
sH .04 7.76 a. ol 8. 13
SR 4,02 5,61 4,89 5. 68
5 2,07 .51 z. 81 .64
- e s "oma R =

371 08

(C) Test Input +30 C
& 7 a8

7.63

3. 46 5.33 Do 42
8. 08 8.75 8.14
5. 88 &. b4 5.77
4. 00
3. 20
9.61 9. 32 3. 68
- 0, 02 7.03 6. 58
3,79 3. 86 4,03
.13 .27 .07
3. 04 . 50 .98
8.8 9.15 8. 34
G. 7R 5,081 b, &9
2. 96 G 46 3.03
3.47 3.73 3.31L
Falh 8. 35
4,95






